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I PR (H e BLAA)
= 1 204, 292, 722
CCTVaR i
= 1 204, 292, 722
CCTVEE &
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= 1 168, 879, 750
HD W A 4@ (REEGAR) | RKE - Lo X - AT 5—2 - JiE
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=) 2 50, 771, 882 101, 543, 764
AR LI 100BASE-FX HD-SDI
i) 2 457, 404 914, 808
EREarvitue—7
=) 2 13, 722,130 27, 444, 260
BT AALET AW 750
=) 2 777, 587 1, 555, 174
vTA ¥4 N 75Q
=) 2 731, 846 1, 463, 692
W {5 45 Bic 2 75Q
=) 2 42, 447 84, 894
HD /S D%
=) 2 131, 732 263, 464
HAGATF Ay ha—F 10BASE-T/100BASE-TX
=) 1 5, 946, 256 5,946, 256
HDxT  a—4%
=) 2 823, 327 1, 646, 654
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F/W (Z7A4¥Y—74—)) 1000BASE-T/100BASE-TX/10BASE-T
=) 1 1,097, 770 1,097, 770
L3—SW 1 & &R % 4 7B (AC100V . H{k)
=) 1 2,341,910 2,341, 910
MR L A NZERE
=) 1 1,829, 617 1,829, 617
PoEA VY=l &
=) 1 9, 696 9, 696
PoEx/ AT %
=) 1 8, 837 8, 837
CCTVEE &
S5 H XA
= 1 2, 662, 640
HDxT a—#
=) 1 823, 327 823, 327
MR L A NZERE
=) 1 1,829, 617 1,829, 617
PoEA VY=l &
=) 1 9, 696 9, 696
CCTVEE &
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= 1 32, 750, 332
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AL S 2T I —
= 1 8,455, 171
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= 1 204, 292, 722
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= 1 5, 945, 270
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WHATA YY) —
= 1 3, 326, 934
COTVh A7 {2 HDA A 45 (LRI RERT)
=) 2 1, 347, 513 2, 695, 026
JARELEERR &
HH 1 9, 422 9, 422
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HH 1 6,593 6, 593
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=) 1 16, 631 16, 631
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EF A AL T A PRE
=) 1 16, 631 16, 631
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=) 1 11, 645 11, 645
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=) 1 16, 631 16, 631
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=) 1 14, 408 14, 408
Mg orfidda B (26 BAHIE)
=) 1 10, 081 10, 081
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=) 1 12,194 12,194
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HHIE)
=) 1 8,533 8,533
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"
=) 1 143, 990 143, 990
HDx=y a— X %E
=) 1 12,194 12,194
HDx a—42##E B4
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=) 1 8,533 8,533
B — NERE
=) 1 71,995 71,995
F/W (Z7A4Y—U4+—/)
AR
=) 1 16, 631 16, 631
L 3—SW&HE
=) 1 41, 568 41, 568
HEAL T A N SEE RS
=) 1 166, 586 166, 586
PoEA v ¥ = 7 X RiE
=) 1 12,176 12,176
PoET 7 2T o A% IE
=) 1 12,176 12,176
COTVEE & 7R L
S5 H XA
= 1 203, 937
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HDx=Y v a—¥&%iE
=) 1 12,194 12,194
HEAL L A N SEE R E
=) 1 166, 586 166, 586
PoEA v ¥ = 7 X RiE
=) 1 12,176 12,176
TIVR v 7 ARE 200mm X 200mm X 150mm
& 1 12, 981 12,981
COTVEE & FR 1 L
Sl R N
= 1 557, 885
COTVA A7 2L B R B HDIPA A & 35
=) 5 66, 570 332, 850
COTVAH R 2 8 5% 1
=) 5 22, 284 111, 420
L 2 — SWaki#E
=) 5 22,723 113,615
B - R 1
WRADAY Y —
= 1 177, 706
ENE BEH UTP Catbe
m 36 1,029 37, 044
EAMERR AL UTP Catbe
m 9 392. 6 3,533
ENEM BN UTP Catbe
m 17 669. 2 11, 376
BARHR Ty 7 UTP Catbe
m 84 835.2 70, 156
EAELHE FEH UTP Catbe
m 3 1,029 3, 087
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B BN UTP Catbe
m 1 669. 669
ENE FEH RS-232C
m 4 3,161 12, 644
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EAVELE BB BB L S ERE PV24
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B - R 1
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m 50 835. 41, 760
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m 11 392. 4,318
ENES FEH UTP Catbe
m 2 1,029 2,058
ENEM BN UTP Catbe
m 4 669. 2,676
JE SR FE AR G 628
m 15 3,900 58, 500
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m 3 969 2,907
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PR kT FEP30JH
& 2 3, 494 6, 988
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& 15 54. 88 823
BHEER TRy s L=150
& 15 2, 104 31, 560
B - R 1
sl FiE W
= 1 15, 581
BB BN UTP Catbe
m 5 669. 2 3, 346
BB BN CVV1. 25sq-3¢
m 5 724.1 3, 620
BB BN CV3. 5sq—3c
m 5 1,723 8,615
Her-7 vk T
sl FieE W
= 1 315, 268
JER SRR Ym—F 2C (2m) X 10#
m 20 498 9, 960
Jea— K SM - (SC-FC) 2C (PCHFIEE) 2m
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=77 vaklk SM 4C
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CCTVEEE = T
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= 1 1,009, 716
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CCTVh p 724 B i 22
= 2 474, 968 949, 936
SRR E ML
i) 2 1,938 3,876
HAFVAThay pe—H
= 1 38, 861 38, 861
EHar br—THE
= 1 3,342 3, 342
EHrar be—J#HE QKA
HHIE)
= 1 2,339 2,339
EFFRAE BT A Pk
= 1 3,342 3, 342
EFAAZ T A YiE B
EEinsy
= 1 2,339 2,339
vT A& A b TE
= 1 3,342 3, 342
vrAs 4 b I7iE CHERM
iE)
= 1 2,339 2,339
CCTVHEE = T
S5 H XA
= 1 7,478
AV EVERVAE €
= 1 2,770 2,770
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CCTVh p 724 B i 22
=) 5 16, 713 83, 565
CCTVRE A B i =
=) 5 16, 713 83, 565
YATMIT) V=Y
= 1 1,919, 268
YATMYT) V=vay
= 1 1,919, 268
YATMIT) V=Y
= 1 1,919, 268
TR S T
= 1 21, 955
ik 1
= 1 21, 955
ik (B
= 1 21, 955
G an
= 1 3,371, 069
% L
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B:SElTE
= 1, 476, 186
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= 381, 560
et By
= 1 14, 261
B GE(E R DBIER
= 1 14, 261
BGmEsET (K30
= 1 367, 299
HIBGERE (FE L)
= 1 1, 094, 626
Wi
= 1 12,733,748
B
= 1 5, 142, 198
e
= 14, 998, 382
et ety
= 1 4, 410, 326
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T AT
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